2z 62242

9. Let f(z) = You may use that ' = e and " = Wi D)3

2 -1
(a) (2 points) Find the vertical asymptotes of the graph of f.

(b) (2 points) Find the horizontal asymptotes of the graph.

(¢) (2 points) Find the intervals where f is increasing.
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Recall that f/ = ﬁ and f/ = (23232_45)23

(d) (2 points) Find the intervals where f is concave up.

(e) (2 points) Find the maximal value of f in the interval [4, 6]

(f) (2 points) Sketch of the graph of y = f(z).

Page 9



— 2
You may use that f = ﬁ and f" = (2‘555)23'

1
. Let = .
9. Let f(z) R
(a) (2 points) Find the vertical asymptotes of the graph of f.

£ix) = => V.A ave [X=],X= -|

- |
X% (x-0)x+)

(b) (2 points) Find the horizontal asymptotes of the graph.

Lim flx)= Lm _1 -0 L2im oy Lim L . o

X200 X200 y2 | T X--00 X=-060 X2-|

SO H.A. is|_y?o_|

(¢) (2 points) Find the intervals where f is increasing.

increasing when 70 L'00=0=>%=0

T'(x) undef. when D=0 => (X-D*(X+2=0Q = x=1|
+ + - =

i A =>|(-00,-1),(-1,0)
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Recall that [/ = ﬁ and " = (29252:)23

(d) (2 points) Find the intervals where f is concave up.
concave vp when £"70

F100=0 never, £'x) undef when GED3=0=> (X-D*(X+1P=0 = x=t |
_F\I “+ _l‘— : + =) (-60' -\)’ L|,o°>
]

(e) (2 points) Find the maximal value of f in the interval [4, 6]
Cr#=0 (outside int.)

N N S
10(q)'l(,,-l 3 1@ 3b-1 ~ 35

max is [Visl

(f) (2 points) Sketch of the graph of y = f(z).

——— (0,-1) rel max

- \/:o
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